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‘HR04 12.19{19.94|18.43|21.73|16.27|20.02| 18.7822.39 | 15.41|31.89|34.96 | 33.37 ‘ER04 093 | 3.17 | 322 | 389|293 |591 | 346 | 3.28 | 356 [11.30/12.03|11.09
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[BRO4 | 4.18 | 5.45 | 15.53]19.9128.74]28.09|35.56 |43.50  45.45| 60.20| 61.19 | 62.91 |oro4 [ 0.06 [ 0.09 [ 0.29 [ 0.39 | 060 | 069 [ 091 1.37 [ 141 [ 243 [ 298 [ 320
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\uR04 279 | 3.86 10.06 10.31 1546 18.95 27.16 32.04|30.77 41.77 58.10 56.12 \uR04 003 | 0.06 | 0.19 | 0.24 | 0.33 | 0.39 | 0.73 | 0.94 | 0.93 | 152 | 2.35 | 243
% COFTE & & (L&) % B (L)
100 100
80 80
60 60
40 40
20 20
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